( annin “TCQ
F(rv\l(yxj fhe l)f:s’l: Jr‘ree ) T[/)e mn. Sf n j

wmih
G\'ch a Cbmvlebt-ecl. W&iﬁ\ntEcL am,‘o& a 8“&4@@\
weights fmckion o the cJC);;

W E—
Find a tree (éomwcc/f:cL 0—%6&0) vt fag e
swallest bl weipht

Exunple )/0 —o
O

]
S
b




BN{Z fow;e/ A
W\Aﬁ o\QQ 19039(%{_ Yrees is  bad :’Dm e /mat:\j ]

,ﬂM a%arf%w M WWKS I @v‘cdj a,bwh”@m_

Pk e cmallest ’Wc«‘aht e,clac, amdl  add T
b the fee as lorﬂ as £ maKes no %o{e,

(50 9% ﬂﬂé Cﬁc} L:j %5/{9\{7 and 6@"1714&)(/&%
them One a)I/ A r‘Efme)

Remembor: Sorting 4 |E) by |E|  Aime .
%@0{6’9 for zgole,c can be done 6#,'403% ,
F\’\O(é '{ﬂlult A'\j Fm@@g Lcs‘\j +Vec . CSc| 335/[,1/],&{1/6(3






P\Mv‘&g e gr\eeclj a% ’f*odeliaer' in class ...

weght o tee: (+2 +2+4 +4+ F+9+a= 37



G"v*eeckj clocg vw‘\’ a(wa\fs W,UNK l

Exaw\rbb ?vaeafvj §aieS/maw : ?[nt{ A Cg@@c ‘h'wlL Visi ts
evcr) Wh/tc)( ez(ao‘['@ once af Mmin. Cox‘l:.

00O B

¥o

@recvlj  Pick  the Mna//lcc‘)’ W@/«f eAJe, amd add [t
b Ycle 4 brtj as deqree o eww wuftx <2
and ﬂdc Joes nai' 0(/1(& &w‘é/ Cmﬁsifj §D<m6)



5 I |+2+9 + 1009 =looR

(i

C

2
\L A A8
= M l€3x4$ =12
¢

0



RUVWI(;A.\C] the 4@3 fojdiqcr i lace

AC (00O B
4
ol > |
.
b 2 =

q)h“wQ Yoo has  weght (34 T+ 4 13
Cyole fourd by greed oy Vos w1+ 2+ S(000



once. -
exact

Had  to fonde |

‘m% CVEU &%&
Vi

de : A L('jde Hogf- EMJ

a&r aa emd@ ovice




A

y )

(2(

)

oy

4

Can we cross al F bridges and retvm

?;y fh}heﬂ’,

Culer!s  omlhs ﬂrﬂ :
Gmfx@\ with /mMQ(ﬂ]@[e el@c:s

e <yt 2

between Verbces

EM LMAge s a 6(%6/

Fnd an

Ewlef @ e .

4
'&0 4
%



Al verhices fhave

exven Aarce,

existe.
> ‘Ew&r wale X
{;—_

b &W\({ one : te
| x
E(j Pe’?f"‘t e avbifrary :rrg -
Baki 1 {vrarn
P new elaes arb le/)
- Follow piEssinenii
Jov Caq:% prev. %0{0
L jaf\/\
Unbl dove -







